Central Tendency – Worksheet #3
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1)

	Job
	Salary
	Number of Employees
	Total Salaries

	Cook
	$45,000
	3
	$135,000

	Dishwasher
	$28,000
	2
	$56,000

	Waiter / Waitress
	$25,000
	5
	$125,000

	Totals
	
	10
	$316,000



a)
What is the mean salary?


b)
What is the median salary?


c)
What is the mode salary?

2)
Please create a stem and leaf plot using these numbers:



47, 48, 71, 50, 59, 74, 44, 40, 74, 76, 72, 50, 75

3)
Please create a stem and leaf plot using these numbers:



$87,  $106,  $99,  $105,  $89,  $93,  $89,  $75,  $125,  $89

The following stem-and-leaf plot shows the test scores that 25 students received on a history test.
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Key:   4|8  =  48

How many students received a score 

What was the median score for the 

higher than 80?




class?

A
7





A
82

B
10





B
83

C
14





C
86

D
15





D
87

---------------------------------------------------------------------------------------------------





The following list shows the scores





that nine students received on a





science exam.





79, 92, 84, 88, 81, 91, 97, 79, 83





What is the median score received?





A
86





B
84





C
81





D
79
